
time <= 0.5
entropy = 2.525
samples = 110

value = [18, 26, 11, 13, 19, 23]
class = Beer

gender <= 0.5
entropy = 1.915
samples = 67

value = [18, 21, 2, 0, 3, 23]
class = Red Wine

True

gender <= 0.5
entropy = 1.886
samples = 43

value = [0, 5, 9, 13, 16, 0]
class = Orange Juice

False

age <= 0.5
entropy = 1.197
samples = 34

value = [11, 21, 2, 0, 0, 0]
class = Beer

age <= 0.5
entropy = 1.152
samples = 33

value = [7, 0, 0, 0, 3, 23]
class = Red Wine

outfit <= 0.5
entropy = 0.928
samples = 32

value = [11, 21, 0, 0, 0, 0]
class = Beer

entropy = 0.0
samples = 2

value = [0, 0, 2, 0, 0, 0]
class = Cola

cash <= 0.5
entropy = 0.983
samples = 26

value = [11, 15, 0, 0, 0, 0]
class = Beer

entropy = 0.0
samples = 6

value = [0, 6, 0, 0, 0, 0]
class = Beer

vege <= 0.5
entropy = 1.0
samples = 22

value = [11, 11, 0, 0, 0, 0]
class = Whisky

entropy = 0.0
samples = 4

value = [0, 4, 0, 0, 0, 0]
class = Beer

entropy = 0.991
samples = 18

value = [10, 8, 0, 0, 0, 0]
class = Whisky

entropy = 0.811
samples = 4

value = [1, 3, 0, 0, 0, 0]
class = Beer

cash <= 0.5
entropy = 0.784
samples = 30

value = [7, 0, 0, 0, 0, 23]
class = Red Wine

entropy = 0.0
samples = 3

value = [0, 0, 0, 0, 3, 0]
class = Orange Juice

outfit <= 0.5
entropy = 0.934
samples = 20

value = [7, 0, 0, 0, 0, 13]
class = Red Wine

entropy = 0.0
samples = 10

value = [0, 0, 0, 0, 0, 10]
class = Red Wine

vege <= 0.5
entropy = 0.989
samples = 16

value = [7, 0, 0, 0, 0, 9]
class = Red Wine

entropy = 0.0
samples = 4

value = [0, 0, 0, 0, 0, 4]
class = Red Wine

entropy = 0.881
samples = 10

value = [3, 0, 0, 0, 0, 7]
class = Red Wine

entropy = 0.918
samples = 6

value = [4, 0, 0, 0, 0, 2]
class = Whisky

outfit <= 0.5
entropy = 1.883
samples = 20

value = [0, 5, 7, 2, 6, 0]
class = Cola

age <= 0.5
entropy = 1.338
samples = 23

value = [0, 0, 2, 11, 10, 0]
class = Water

vege <= 0.5
entropy = 1.349
samples = 11

value = [0, 0, 5, 1, 5, 0]
class = Cola

vege <= 0.5
entropy = 1.658

samples = 9
value = [0, 5, 2, 1, 1, 0]

class = Beer

age <= 0.5
entropy = 0.991

samples = 9
value = [0, 0, 5, 0, 4, 0]

class = Cola

entropy = 1.0
samples = 2

value = [0, 0, 0, 1, 1, 0]
class = Water

cash <= 0.5
entropy = 0.954

samples = 8
value = [0, 0, 5, 0, 3, 0]

class = Cola

entropy = 0.0
samples = 1

value = [0, 0, 0, 0, 1, 0]
class = Orange Juice

entropy = 0.0
samples = 2

value = [0, 0, 2, 0, 0, 0]
class = Cola

entropy = 1.0
samples = 6

value = [0, 0, 3, 0, 3, 0]
class = Cola

entropy = 1.549
samples = 8

value = [0, 5, 1, 1, 1, 0]
class = Beer

entropy = 0.0
samples = 1

value = [0, 0, 1, 0, 0, 0]
class = Cola

cash <= 0.5
entropy = 1.342
samples = 21

value = [0, 0, 2, 11, 8, 0]
class = Water

entropy = 0.0
samples = 2

value = [0, 0, 0, 0, 2, 0]
class = Orange Juice

outfit <= 0.5
entropy = 0.985

samples = 7
value = [0, 0, 0, 4, 3, 0]

class = Water

vege <= 0.5
entropy = 1.432
samples = 14

value = [0, 0, 2, 7, 5, 0]
class = Water

entropy = 0.918
samples = 3

value = [0, 0, 0, 2, 1, 0]
class = Water

entropy = 1.0
samples = 4

value = [0, 0, 0, 2, 2, 0]
class = Water

entropy = 1.322
samples = 11

value = [0, 0, 1, 6, 4, 0]
class = Water

entropy = 1.585
samples = 3

value = [0, 0, 1, 1, 1, 0]
class = Cola


